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(A) Henatitis A (& Hepititis B ('3 Hepmitis C {1 Hepatin |

ot (), 26 carry two mark: sach.

Q.11 Which of the {ollowing groups of micronrzanisms contain both superonide dramiane
and catalase enzymes for growth? :

{A) Obligate acrobes only

{B) Faculiative anasrobes only

{C) Sirict anacrobes only

(D) Roth ebligate agrobes and faculiative anazrobes

Q.12 Which of the following is not responsiblc for making bacteria resrsiaar e penlcthn
action

(A} Change in the peniciilin binding proteins

{B) Inability of peniciliin to reach its site of actiun
(C) Inahility to bind ta 305 ribasomal subunit

(D) Presence of plasm:2 coding Tor penicifiinase
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The pathogenesis associated with Vibro choferae infection depends oo e
colonizalior of the small irlestine b)’ th= Organism and secretion of an cptoralos e
Which of the following statement relaied 1o pathogenicity of cholera is incomrect”

{A) Vibrio cholerae secrctes the entercioxin cholerapen

{B) Cholerugen consists of A {active) und B(binding) subunit

(€} Choleragen toxin alone cannot reproduce the symplomes ol vssicism PO by 2
of Vibrio choler.e

(D}CTX bact=riaphugecumics the sones of chinlar: tan and arher vijulinge e Tk

" Prior infeclion of Mycobacteritm tuberculosis can be detecied by positive lubcicunn

s¥in test result, The basis of this test is

{A} Anaphylactic hypersensitivity (Type 1)

{B) Antibody dependent cytoloxic hypersensitivity (Type 11)
(C) Immune complex mediated Eypersensitivity (Type 11
(D) Cell medisted or delayed hypersensitivity (Type 1V)

A bucterial cullure on being transferred from anacrabic o serobic coaditiop of growih
drastically reduce the rate of glucose catabolism. This regulitory phonemean
know as

{A) Tyndullizalion  (B) Pastevrization  (C) Crabiree effeet (D) Pasteur clluet

Which ¢ the following stalemenis related 10 'High frequeney recombination’ (Hirl
cells 15 incomect *

{A) Single strand of DNA that enters into recipient F ceii contairs a piece of the I
factor at the leading end followed by ihe b.ctenial chromosomes and then by the
remainder of the F factor

(C) Most mating results in the transfer of only a portion of donor chromasomys
because the attachment betwesn the two cells cun break

(C) The bacterial gencs adjacent te the lcading picce of the F fuctor arc lea
frequently transferred

(D) The donor celi genes that are transierred vary, simee the FF plasmid can integrate it
several different sites in a bactenal DNA

Replicalion of the positive strand genome of peliovirus requires

(A) Reverse Transeriplase

(B) Virus cncoded RNA dependent RNA polymerase
(C) DNA dependent RNA polymerass

(D} DNA nalvmerase

Which of the following statement abor ' bact.riophage A is incorrect

(AYI initially produces 1wo proteins: one 2ots as an inhibior of A repressor synthess
and the other acts as u terminator for (ranseription

(B) It maintains its lysogenic state in the ahsence of an inducer

(C) In switcling from the lysagenic (o the Ivtic phuse. 11 trns off the synthesss of &
repressor because ¢ siwlunds WA oprator Qg

(D) It forms N and Q pene [‘f‘l!dlig‘[:: whach gt s posimive regidatory proteims Tesnleig

__to the sequential prodaction afl 2 oo iod s
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Common Data for Quegtinns 22, 23, 24: Analysis of the clectron Uanspont system in a

nevly isclated serobic Grame-posinve bacienum showsd the existence of five electron

transport molecules. Therr redoa poteniials ums as Toiion
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p (PH. S I
| NAD™ NADH P -0.32
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U Whigh of the following scquence
inthe transport of electrons forensris £
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(omman Data for Quesilons 25, 261 £ coli can metabolize both glucose and |actose Sugar

s+ wle source of corbon and encrgy. While glucose catabolizing enzymzs are constitulive

Lwtese catabalizing enzymes are induced in the presence of compounds such s lactose

TG, e Lactose catabolizing cozymes are also regutaled by eatsiolite repressen

()15 Assume thal & oo has been grown in a nulnent medwim containing lactse ooly
VWhen the enlius bos reached the loganthmic phise of growth, the cells wre harvested
a1 trunsiered 10 a0 medium conlaining glucose anly, Would you cxpect the culture to

(A3 Continne o prow in its foganthmic phase

1£) Exhibit o lug phase first and then grow again in its loganthmie phase
(C) Undergo Ly

(L) Stop prowth

(2 I the £ coli cells are grown in a medium containing bath glucose und luctose, whitt 15
lik 21y 1o happen?

(A, Both the sugurs would be wiilized simultancously
{B) The culture will exhibit synchronous growth,

() Lavtose will be utilized first followed by glucose
(D) Glucose will be utilized first followed by lactose

Linked Answer Questions: Q27a to Q28b carry two marks ench

Stutement for Linked Answer Questlons 27a & 27b:
Consider a nutrient medium containing 2 X 10* cells. The culture is incubated at 25°C under
servhic conditions for growing the cells. The generation time of the cells is 40 minutes.

0 2% I the culure is silowed to grow for § hours, how many generalions would have taken
place 7

tA) &

(By12

(Cy 16

D) 24

Q.27 What will be the cell population after 8 hours 7
{AY 4.1 % 10°
(B) 82X 10
() 4.1% 10
(D) 82X 10"



